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A digital communication System transmits “on the average” equal number

of 0-and 1 bits over g noisy channel. Assume the probability of error at
the receiver when detecting a 0 bit is 5x10, and the probability of error

i o, . ¢ ,./
when detecting a [ bit ig 1x10”. Show your work Daﬂ C
a) Sketch a probabilistic model for such communication system? @

b) Calculate the probability of error for the communication system?
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An assembly line technician checked out electrical resmtor§ in a b.'ltc
size of 1000. Suppose that the probability of any electrical resistor

e _ WY =002
coming out defective is 0.002. Show your work Py t

a. Find the probability that no more than 3 components come ou
defective (B b 0N o F

b. Find the probability of exactly 5 components are defective given
that 3 resistors have been observed to be defective already .
¢.  What is the probability that only 3 components are defective
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The joint probabilities of students’ weights (W) and heights (H) in a class
are listed in the following table. Find the following and show your work:

a) The probability of student’s height is in the range 5' 8" — 6"

b) The probability of student’s weight is in the range 160 — 190 Ibs
given that his height is 5’ 8" — 6'?

c) The probability of students’ weight is in the range 190 — 220 Ibs
given that his yeight is more than 5' 8"?

W

Wi W, Wi Wi Wi P[H;]

100-130 130-160. 160-190> 190-220 220-250
H 5-54  |0.08 0.04 0.02 0 0 0.14 -
H, 54"-5'8" | 0.06 0.12 0.06 0.02 . 0 0.26
*Hy 58°-6" |0 0.06 @ 7006 \ 0 (0.26)
Hy6-6'4" 0 0 02 0.06 0.10 0.04 0.22
Hy 64" 6'8" | 0 0. |o00os) o014 |01
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